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Name: ___________________             Class: ___________ 

 

Addition word problems: 
 

Read the word problem. Count and write the answer. 

 
There are 6 boys and 4 girls in 

the class. How many total kids 

are there? 
 

____  +  ____  =  _____ 
 

 

 
 
Sam has 3 red balloons and 4 blue 

balloons. How many balloons does he have? 
 

____  +  ____  =  _____ 
 

 

 

 
Kim has 3 cupcakes. She gets 4 more. 

How many total cupcakes she has? 
 

____  +  ____  =  _____ 
 

 

 
 

 

There are 5 ladybugs and 4 more 

join them. How many ladybugs are 

there? 
 

____  +  ____  =  _____ 
 

 

 

 

 

 


